THE GAUHATI HIGH COURT AT GUWAHATI

(The High Court of Assam, Nagaland, Mizoram and Arunachal Pradesh)

Written Examination (OMR based Objective Type Questions with Multiple

Total Marks: 50+20=70
Date: 12.08.2018 (Sunday)

Buration: 1 hour 30 minutes
Time: 2,00 pm to 3.30 pm

Total number of questions=70
[Assamese Language Segment (Question Nos. 51 to 70) is qualifying in nature]

“Choose the correct word/number from the given options:

Which aorgan of the body Is mainly damaged in Hepatitis?

Choices) for direct recruitment of DUFTRY for the Judicial Academy, Assam.

A i Spleen B | Kidney C [Llver Lungs o
The gas used in fire extinguisheris ___ ? ]
A | Oxygen B | Carbon dioxide | C | Sulphur dioxide D _H's;&}ég'é'h R
Which bird lays only ane egg in two years? o

A | Ostrich B | Albatross C | Vulture Crane -
How many squar_é—é are there in a chess board? o -
A |44 B |62 C |64 54 i
Which animal holds the sword on Sri Lanka's national flag? i
A | Lion B | Elephant C Camel Tiger |
With what is the term “epicentre” associated? }
A | Faulting B | Folding C Earth's Interior Earthquake

Aryabhatta was a famous ? T
A | Painter B | Astronomer | C | Physician Biologist |
Which musical instrument did Ustad Bismillah Khan play? o

A [ Tabla B | Guitar C | Shehnai Sitar

Where in India is the w

orld’s highest gun point position located?

A {i.eh

B | Kargil

c

Pahalgam

Siachen Glacier
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10. | Who is the captain of the Indian Cricket Team?
A | M.S. Dhoni B | Rohit Sharma | C | Virat Kohli ) _Ajiﬁkya Rahane
11. | The capital of Franceis ___ . o
A | Rome B | Paris C | Madrid D | Amsterdam o
12. | For how long can President’s Rule in a state be imposed initially?
A | 1Year B | 2 years C | 6 months D | 3vyears
Choose the alternatives from the given options:
13. | My aunt beautiful embroidery.
A Do B | Does C : Have done D | None of them -
14. | Rishi everything that his mother asked him to do. ]
A | Do B | Does ¢ |pid D | None of them
15. | The children can all the activities on their own. o
A | Do B | Does C | Did D | None of them
16. | It is hot outside it is cold inside the office. _
A | And B |But C So D Because -
17. | Pitt loves fish he is also fond of bread.
A | As B |So C And D But
18. | You rﬁgy‘/i‘ike thifs‘tcy car you may like the other one.
A | And B | Se C iAs DO
19, | We brought an ice cream maker last week o our family is very fond of ice cream
A | And B | But C |As D |So
20. | He ___us English iast year.
A | teach B | wrote 1€ teaches D taught
21. | She a letter to her mother today
A | write B | writing C | Writes D | wrote
22. | Tony over the rope daily
A | jump B | jumping , AC"”-I }umps D "ju_h;iped
23. |1 present for my mother
A | buy B | bought C | bring D | bringing
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24. | The principal the naughty boys yesterday
A punish B | punishing C punished D punishes
25. | An aircraft left anh airport at 7:30 p.nku. If it travelled for 3 hours "viO"'miﬁ'LJt'é's, it reached itg
destination at hrs?
A [10:30 p.m. B [10:40pm.  |C [10:20 p.m. D [10:50 p.m.
26. | 11 cakes cost Rs, 121. How much is the cost of 5 cakes?
A [ Rs, 55 B | Rs. 65 C Rs. 75 D Rs. 40
27. | The school fee for 4 months is Rs. 1680. Find the fees for the whole year?
A | Rs. 3580 B | Rs. 5500 C | Rs. 5040 D Rs. 6250
28,1 73X = 73000
A 10 B | 1000 C 100 D 10000
29. | If the sum of two numbers is 36935 and oné number is 24831, find the other?
A {12104 B [ 13580 C 14104 D | 10254
30. | Tom's father was 50 years old in 1990. He was homn in
A 1950 B | 1935 C 1945 D 1940

31. | Amit's father gave him Rs. 500. He buys a cricket bat for Rs. 368 and a ball for Rs. 80. How mucw
money is left with Amit ? o
A 50 B | 52 C 62 D 32

32.

I have divided Rs. 9635 equally among 5 wor

kers, how much will each worker get?

A 1580

B 11957

C 1927

D 1827

33. | A factory produces 200 bottles of jam in a day. If each bottle weighs 750 gm, what is the tota
weight of the bottles?
A | 100 Kg B | 150 kg C | 200kg D {250 kg
Arrange in ascending ordern:
34, (a) 3.45 b)4.30 ) 450 d)4.20
A a d b, c B | b ad C b,a,cd D b, c d a
Arrange in descending order: o
35, (a) 2500 b)2.015 ¢)2.050 d)2.005
A tcba d B |bcda C Jag,b,d D |adbc
36. | The sum of the three angles of a triangle is degree.
A ] 150 B | 175 C 180 D T200
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Choose the correct word/ number /letter from the given alternatives :

37. | Train : Engine : : Cart : ?
A | Wheel B | Horse C Passenger D Speed
38. | Sheep : Flock : : Grapes : ? o
A | Bunch B | Stock C | Hectare D Land
39. | Haemoglobin : Blood : : Chlorophyil : ?
A | Oxygen B | Animal C Human D |Leaf
40. | RVLP : SWMQ : : GLKP : ?
A HOQLM B | HMST C HMLQ D FKEQ
41. | CDEF 1 UVWX ;s IIKL : ?
A | ABCD 8 | nNoOPQ C | OPQR D | MNOP
42. i ABN, BOP, CQR, ?
A |BAS B [ DST C [Eqp D [FRS
43 [11:121::111:? B S
A 1234 B | 2314 C 12321 D 12421
44, | What number will come next in the following series?
1,6,13,22,33, __?
A |46 B |44 C |47 D |43
45, | If NEWS is written as WENS, then how MATE will be writften in this code?
A | TAME B | META C | EATM D | AMET
Find the Odd one out from the following: o
46, | A | Sitar B | Violin C Flute D Piano
47. | A LPG B | Diesel C Petrol Kerosene
48. | A | Triangle B | Rectangle C | Circle D | square
49, | A | Car B | Cycle C | Scooter D Helicopter
50. { Arrange the following in a meaningful order:
1. Earth 4. Mars.
2. Jupiter 5. Mercury,
3. Venus.
A 153,142 B 531,24 |C [1,5342 |D [53241
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51, e I WS (- OB YeTFIGRE 9% 9L (TR ?
A O @ B. Si9 71 1
C. TR ~fFwuw 9 D. #/f¥=m w4

52, ‘53 vl WA [ e

A wifEr < B. T e oifdg

C. uil$ sy D. e swig
e *rmEs Sonw afed aifs Tfemes -
53, =y —

A. g2 B. i

C. =ft D. wIibE5E5 9w
54, www

A g8 B. =8

C. A @i B 5abis o5 D. ¢bte um A%
55. wifs

A. 55 B. ¢a

C. 73 D. wilbfzrass wa
56, © PR <1 2t g i tare

A. T = e B. 7 =4[

C. st = 2/7% D. wasf = sffa
57. oorg Rl s (BHeaEl <% gais waidl (5

A. usf = sl B. fsfe = wfem

C. ws = fy D. 5% = e

58. wo Ao Sioiee *oaET CPINCTIE “9 Wald TSRl (20’

A. 1% = A B. sf = «f&

C. »IR=i = F=iem D. tay = R
59, *+ifyw’ «RBE wE et X% sl 2

A, uE B. &

C. wFrml D. 5

5t *a7S elEi T (Wwe Teacs! 917 SEaew) 5
60. 4 Fwaes e 3@ —
A. AT B. sy

C. 7aloig va D. (Gle um TEw
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61, T SEIF *[e FEHS T —

A =R B. =) )

C. =&t D. wii6iERas ua
62 =% 7R $9 ThiR-

A, TET B. 4fE!

C. 2= D. «bis @ 753 |
63. i <51 5P @ —

AL B B, gFard

C. o) D. ©ioErean @5
64, 7 8 #Ra siw—

A. 34T B, @epis]

C. 354 D. #%Ege
65. i TR faeRdl I -

A. CHGERE S B. T3 SEHTH

C. G4 T D. FEfWe @EF
66. S «earTaR Frelemaa T R e

A e T B. sam e

C. TR D. 39733 gl
67. TP GTS1E TG 5 G SHLAINIR (e D (P 2

A SRR SR B. fiss wiswnd

C. "M el D. Rgeemm arsl
68. Fraee FIRI A% @A ke

A. Eifsee sl B, aS@@E o

C. 35%I% TRTTS| D. «Bie 9@ 78
69. o4 (FCH! X8 ST 4Pl ST T —

A. 2R B. =3

C. 4fst D. @bte wgagd
70. <11 Sl B LENATE GEs (RTO! #Ta YRS 9 2H —

A, D B. fa#

C.awl D. SGiEeest 9%
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